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QUESTION 1

What is the purpose of a management VLAN on an HP Provision switch?

A. To prevent IP addresses from being configured on any VLANSs other than the management VLAN

B. To provide an administrative-only marker, label, or alias for the VLAN where IMC is installed

C. To identify a specific VLAN as the only VLAN from which users can connect to the switch management interface

D. To limit remote access connections by specifying the IP addresses that can establish connections

Correct Answer: C

QUESTION 2

Refer to the exhibit.

Switch-C# show =spanning tree

<—putput omitted->
I5T HMapped VLANs
Switch MAC Address
Switch Prioritcy
Max Age : 20
Max Hops : 20
Forward Delay : 15
Topology Change Count
Time Since Last Change
C5T Root MAC Address
CS5T Root Priority
C5T Root Path Cosc
C5T Root Port
<—ou-put omitted->

Portc Iype Coat
1 100/1000T 20000
2 100/1000T 20000
= i00/1000T 20000
4 100/1000T 20000
<—output omitted->

Trkl 100/1000T 20000

1-40%54
0018bb-acdg&40
8182
ig
8 mins
001T7a4-742700
4088
20000
Trkl
Priority State
128 Blocking
128 Forwarding
128 Blocking
120 Forwarding
128 Forwarding

Designated Bridge
001635-bae50<0
0019bb-acdasl
001Ta4-742700
001630—4507d1

0017a4-742700

Based on the output in the exhibit, which statement is correct about the spanning tree protocol running in this network?

A. Switch- is a root switch.
B. Port 2 is a designated port.

C. Port 3 is a root port.
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D. Port 4 is a designated port.

Correct Answer: B

QUESTION 3

Refer to Exhibit.

IRF

£3

Server
The server shown in the exhibit requires redundant links, and The link aggregation should use LACP. What should the
administrator configure on the 1RF virtual switch?
A. a bridge aggregation interface that uses static link aggregation mode
B. a bridge aggregation interface that uses dynamic link aggregation mode
C. two interfaces that are set to trunk for the port-link type
D. two interfaces that are set to hybrid for the port-link type

Correct Answer: B

QUESTION 4

Which HP Comware term defines the untagged VLAN on a trunk port that is commonly used for network management
traffic?

A. default VLAN

B. port VLAN identifier
C. management VLAN
D. access VLAN tag

Correct Answer: B
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QUESTION 5
Refer to the exhibit.

Traditional 3-tier architecture HP simplified 2-tier network

Distribution
layer switches

e U S Uy USSR \SSSEN USHEG
layer | pssss us—— ) US— Ui— — 0 0SS

[ = o]
Lmmmmeam switches layer

The topology shown on the left of the exhibit illustrates a traditional three-tier architecture. Which technology allows a
company to simplify their network with a two-tier topology as illustrated on the right of the exhibit.

A. Intelligent Resilient Framework
B. Software-defined Networking

C. Multiple Spanning Tree Protocol
D. Equal Cost Multi-Pathing

Correct Answer: A
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